: T1tttt T1tttt T5 WW T5 WW
Selection (141.1)  (1.9,0.1) qc%cll%,l.O) q(%cll%,o.l)
All events 90824+ 6.2 587404 5094 +5.2 58.7 = 0.6
One hard lepton 258.6+3.3 203+0.2 136.2 £3.1 16.6 0.4
No veto lepton 217030 17.74+02 127.6=x3.0 15704
Isolated track veto 173.7 2.7 163 40.2 116.8 £2.9 15.0+0.4
Mjet > 5 139824 15.6+0.2 92.8+25 13.9+04
pr(jet2) > 80GeV 84.74+18 15.6+0.2 90.5+25 13.9+04
Ht > 500 GeV 540+14 15.6=+0.2 822+24 13.9+0.3
Lt > 250GeV 314+1.1 15240.2 68.6 2.2 13.6 £0.3
n, = 0and A® > 0.5 3304 0.7£0.1 415417 75103
n, >land A® >05 211409 115+0.2 129409 23+0.1



